@ﬁ-%ﬂbk% 042 22 fE 75 L 31 — G A B2
0%)@%

# l%ﬁ kil %18 #£27
AT CR T4 5 A

AR AT XMERAXME WH  AEFRATIHGRBSEADE > AR I F AR S 2kRY
FIF % M 4R AL NPT - B 51005 -

— > TXEE

LB Fa(MaseX) AR FLEREREHZEE » BAKRNJZIES B BTC, =10Qr » TCx = 10Qk » ATIRE:
HhZTHERAEAHQ=80-2P> Q=Qr+ Qx> £ ¥ Q A5 E  EaANA P ABHTHES
BERAET - BERATPHASEREELEAHE S B4 8 T A5 E4 & #H#AT Cournot B A & Chamberlin 4
RBATHS o BIFM2HERE B4k Chamberlin X %5 - Bl F(T ey FHE % (1) AGB%);: =®mE
B %k Coumnot KRR > Al Fia(DeyFE % 2 (%) ERERFRAERELRE ES T
FE BB AR ERAR  HAHEEHAANTHEFEAZ Nash B (3) (4%) o

EERKEAEQ, =PIP/T » B 0<0y<0; R E X HEHIXBHRE (4)  (4%); Fh— JBAHER

EH—ERIEE > BMERERBN - AEERRE - RXAXE LTS (5) (3%): B X gtEs
YHEZEZA (6) & B 14 (3%) °

3. BREHWEHHETHARLESFTE  THHLEZHAL =10+4Q > THFRAB AP, =330-20 &
TP ARKRERGT/AT)  QBEBEXBE(ELNT) SEBRARBAENE  BAMRERTSHEEZHNR
A7200% 70 MmEHEA e LD HRERR a RRAHASHUELNTREBE P L BREUBERSKBHE
HIDHRMARHAZFRREATH EZHAS T FRRBER P A (1) 7t(5%) > BUR W X
p-) 8)  t(%); #HEES A 9 (%) MR EA_ (10)  T2%) -

BREBEREALAAEZBRRERS»HAEQ, =36—02P, > Qg =50—05P; > AHREE — T RANZ
}QJTCA = 8+1OQA+IOQA ’ TCB —-4‘+ZOQB+5QB ’ 7;’;55 5&%5&’%7{@5%#7!&3 ilﬁr“ﬁ-ﬁﬁiz'Jﬁx’f%%“@ﬁ‘ ’ E\IJ
A EEES D) (%) AkeSHEER (12) (5%); A ¥t EB A (13) (5%) °

~EXHEE

5. Debbie consumes C; units of composite good in period 1 and C- units of composite good in period 2. She earns $100
in period 1 and $460 in period 2 with a utility function given by U(Cy,C,) = C£C,. The borrowing rate and the
lending rate are both 15 percent. Find Debbie’s optimal consumption bundle (Cj,C5). (14) (5%)

What is Debbie’s optimal consumption bundle if the borrowing rate is still 15 percent, but the lending rate falls to 10

percent? (15) (5%)

6. A competitive firm produces a single output using two inputs, labor (L) and capital (K). It has a production
function Q(L, K) = L%°K, where Q is the quantity of output. The input prices of labor and capital are w and r,
respectively. Derive the firm's long-run total cost function in terms of w, 7, and Q. (16) (5%) Suppose in the
short run, the firm’s capital is fixed at 8, the price of labor is $1, and the price of capital is $2. The firm must produce

64 units of output. How much money is the firm sacrificing by not having the ability to choose its level of capital

optimally? a7 (5%)
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7. The footwear manufacturing industry is competitive. Each producer in the industry has a total variable cost function
TVC = g and a sunk fixed cost of $50. The market demand curve is D(P) = 210 — P. There are 9 identical firms
in the industry. Find the short-run equilibrium price in this industry. (18) (5%) What is each firm’s producer
surplus at the short-run equilibrium ? (19 (5%) '

8. A consumer has a utility function U(x,y) = x + ﬁ and an income of $100. The price of good x is $10 and the
price of good y is $1. Find the consumer’s optimal consumption bundle.___ (20) (5%) Denote the price of good
x by P,. What must P, increase to in order for the consumer to buy zero quantity of good x, keeping the price of
good y at $1 and the income at $1007 2D (5%)

9. An economy has two agents, Amy and Brian. There are two goods, x and y. The utility functions of Amy and Brian are
Uy (x4, le) = min{x,,y,} and Ug(xp,yg) = x5Vp, respectively. Amy is initially endowed with 6 units of good
x and no good y. Brian is initially endowed 4 units of good y and no good x. Suppose that Amy and Brian
exchange on the basis of a price system. Find Amy's consumption bundle at the competitive equilibrium for this
economy. (22) (5%) Find Amy's consumption bundle at the Pareto optimal allocation such that both
consumers receive the same level of utility. (23) (5%)
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